
Montage- und Gebrauchsanweisung / Operating and assembly instructions
Instrukcja montażu i użytkowania  

Lehnen Typ L140010*, L140020*, L140030*, L141010*, L141030*, L141040*, L6300100, L6300200, 
L6300300, L6310100, L6310200, L6310300

Lehnen GmbH / Kleinicher Straße 10 / 54472 Longkamp / Germany / Telefon: 06531 - 500 57-0 / Fax: 06531 - 500 57-22 / www.lehnen.de

1. Stückliste / Parts list / Wykaz części

2
1
C25
Ks12
V4
M20

SW 10 
Ø 8

SW 2 / SW 3 

1 x

1 x

2 x

5 x 50

2 x

1

5 x 50

2 x

1

3 x

S8 x 40

2

2 x

S8 x 40

2

2 x

5

3

4

15

6

7

8

2 x

2 x

2 x

6

7

8

2 x

2 x

2 x

13

14

1 x

1 x

M6 x 50

111 x

M4 x 4
DIN 913

121 x

2 x

M6 x 6
DIN 913

9

2 x

M6 x 6
DIN 913

9

18 x / 24 x / 36 x

10

12/12/12

10

3
1 x



2. Planungshilfe / Planning aids / wskazówki montażowe  

m
ax

. 5
00

 m
m

3. Montage / Installation mounting / Montaż

1

2

3

60 mm

min    
 60mm  

min    
 60mm  

4

2

✔
5

L= max. 900 / m
ax. 1200 

max. 1500 mm

L= max. 900 / m
ax. 1200 

max. 1500 mm

L

X=

L= max. 900 / max. 1200

max. 1500 mm



6

9

11

4

7

8

16

8

7

8

10

3

6

6

7

6

15

3

10

7

8
9

6

h

3 4

3
3

Click



4. Pflege und Reinigung / Cleaning and care / Konserwacja i czyszczenie  

pH 8-9

pH 8-9

25°    

max. 40°    

CL

alk.

60
 m

m
2

11

14

15

14

13

13

15

15

16

3

h
12

16

13

17

14

18

15

19

Rev. 5 / 08.08.2018

Lehnen GmbH / Kleinicher Straße 10 / 54472 Longkamp / Germany / Telefon: 06531 - 500 57-0 / Fax: 06531 - 500 57-22 / www.lehnen.de


